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Cuadro 3 (continuación 2)/Table 3 (continued 2)
Bolivia (Estado Plurinacional de): tablas abreviadas de mortalidada

 Bolivia (Plurinational State of): abridged life tables 
a

1970

Edad/Age  
(x) n m(x,n) q(x,n) l(x) d(x,n) L(x,n) P(x,x+5) T(x) e(x)

Hombres/Males
0 1 0.170 0.152  100 000  15 230  89 796 0.806 b 4 416 647 44.2
1 4 0.030 0.113  84 770  9 607  312 995 0.923 c 4 326 851 51.0
5 5 0.005 0.022  75 164  1 681  371 617 0.979 4 013 856 53.4

10 5 0.004 0.020  73 483  1 442  363 810 0.979 3 642 239 49.6
15 5 0.004 0.022  72 041  1 588  356 236 0.973 3 278 429 45.5
20 5 0.007 0.033  70 453  2 329  346 445 0.967 2 922 194 41.5
25 5 0.007 0.033  68 125  2 271  334 946 0.965 2 575 749 37.8
30 5 0.007 0.036  65 854  2 393  323 285 0.961 2 240 803 34.0
35 5 0.008 0.041  63 460  2 627  310 734 0.953 1 917 519 30.2
40 5 0.011 0.052  60 833  3 161  296 263 0.941 1 606 785 26.4
45 5 0.014 0.066  57 672  3 786  278 896 0.923 1 310 521 22.7
50 5 0.019 0.089  53 886  4 795  257 444 0.895 1 031 625 19.1
55 5 0.026 0.123  49 092  6 054  230 322 0.851  774 181 15.8
60 5 0.039 0.179  43 037  7 706  195 921 0.785  543 859 12.6
65 5 0.059 0.260  35 331  9 172  153 724 0.688  347 938 9.8
70 5 0.095 0.383  26 159  10 020  105 743 0.555  194 213 7.4
75 5 0.153 0.544  16 139  8 786  58 727 0.397  88 470 5.5
80 5 0.250 0.730  7 352  5 369  23 338 0.242  29 743 4.0
85 5 0.370 0.863  1 983  1 710  5 640 0.128  6 405 3.2
90 5 0.510 0.940   273   256   723 0.058   766 2.8
95 5 0.652 0.975   16   16   42 0.012 d   43 2.6

100 ω 0.777 1.000   0   0   1   1 1.3
Mujeres/Females

0 1 0.141 0.129  100 000  12 896  91 618 0.833 b 4 694 148 46.9
1 4 0.026 0.100  87 104  8 753  324 717 0.930 c 4 602 530 52.8
5 5 0.005 0.022  78 352  1 751  387 381 0.979 4 277 813 54.6

10 5 0.004 0.020  76 601  1 501  379 251 0.978 3 890 431 50.8
15 5 0.005 0.025  75 100  1 845  370 886 0.972 3 511 180 46.8
20 5 0.006 0.031  73 255  2 290  360 550 0.967 3 140 294 42.9
25 5 0.007 0.035  70 965  2 464  348 666 0.964 2 779 745 39.2
30 5 0.007 0.037  68 501  2 504  336 247 0.962 2 431 078 35.5
35 5 0.008 0.040  65 997  2 650  323 363 0.958 2 094 831 31.7
40 5 0.009 0.045  63 348  2 826  309 675 0.952 1 771 468 28.0
45 5 0.011 0.052  60 522  3 126  294 794 0.940 1 461 793 24.2
50 5 0.014 0.069  57 396  3 964  277 068 0.917 1 166 999 20.3
55 5 0.020 0.097  53 431  5 202  254 151 0.876  889 931 16.7
60 5 0.033 0.153  48 229  7 384  222 685 0.806  635 780 13.2
65 5 0.055 0.243  40 845  9 934  179 389 0.701  413 096 10.1
70 5 0.091 0.372  30 911  11 492  125 824 0.564  233 707 7.6
75 5 0.150 0.537  19 419  10 436  71 005 0.404  107 883 5.6
80 5 0.244 0.723  8 983  6 490  28 689 0.249  36 878 4.1
85 5 0.358 0.853  2 493  2 126  7 147 0.137  8 189 3.3
90 5 0.491 0.932   366   342   978 0.065  1 042 2.8
95 5 0.631 0.971   25   24   64 0.014 d   65 2.6

100 ω 0.763 1.000   1   1   1   1 1.3

Fuente: Centro Latinoamericano y Caribeño de Demografía (CELADE)-División de Población de la CEPAL, revisión de 2017.
Source: Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, 2017 revision.
a	 Elaboración propia mediante la interpolación de las tablas de mortalidad implícitas en las estimaciones y proyecciones de población.
a	 Prepared by Latin American and Caribbean Demographic Centre (CELADE)-Population Division of ECLAC, on the basis of interpolation of life tables 

implicit in the population estimates and projections.
b	 P(b,5) = [L(0,1) + L(1,4)] / [5*l(0)].
c	 P(0-4) = L(5,5) / [L(0,1) + L(1,4)].
d	 P(95,ω) = T(100) / T(95).


